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QUESTION 1

Your client wants to create an Advanced Shipment Notification (ASN) automatically after a Purchase Order

(PO) is created in the system.

What step should they perform?

A. The user needs to go to the Purchase Order Screen Ul and select the "Create IB Shipment" check box

B. Update the Company Parameter CREATE_ASN_FOR_EACH_PO to Yes on the Company Parameter Ul screen
C. When interfacing the PO, the "create_asn" check box needs to be selected every time

D. When interfacing the shipment, the PO number should be specified

Correct Answer: B

QUESTION 2

While working on the configuration of your client, you uncover that the ASNs will always have the correct serial number
information interfaced upfront and your client trusts the ASN information. Your client also needs the serial number
information to get into WMS Cloud when the items are received from POs. Which three actions do you need to take,
assuming that item A is serial-tracked? (Choose three.)

A. Set item A\\'s require serial number parameter to "Required, validate and allow user override".

B. Create the IB Container barcode type.

C. Create the Serial Number barcode type.

D. Set the company parameter SERIAL_NUMBER_TRACKING_LEVEL TO 2.

E. Set item A\\'s require serial number parameter to "Required, don\\'t Validate".

Correct Answer. ABD

QUESTION 3

As an Inventory Super User, you are configuring LPNs per tier and Tiers per Pallet fields at Iltem Details
screen.

Which statement is true about LPNs per tier and Tiers per Pallet?

A. LPNs per tier and Tiers per Pallet are used to define number of Ob LPN per tier during shipping.

B. LPNs per tier and Tiers per Pallet are used to define number of IB LPN per tier during receiving.

C. LPNs per tier and Tier per Pallet are used to define the standard number of LPNs acceptable per pallet during
receiving.
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D. LPNs per tier and Tiers per pallet are used to define the standard number of case and pack for an Item during
receiving.

Correct Answer: D

Reference: https://learn.oracle.com/ords/launchpad/learn?page=item-masterandcontext=0:44189:44200

QUESTION 4

A user is using the PackNC transaction to pack into a blind OBLPN. The user needs to pick up 10 units for
Item 000234, but after picking up four units the OBLPN is full.

What should the user do?

A. move to the next location

B. end the LPN

C. short the remaining units

D. scan the next order

Correct Answer: B

Reference: https://docs.oracle.com/cloud/owm70/owmcs_gs-cloud/OWMRN/OWMRN.pdf (12)

QUESTION 5

You are creating a standard report for a client to display LPN Numbers (for multi-SKU LPNs) and their associated items.
The two data fields you have in your report are LPN Number and Item Code. Identify what controls need to be set to
create a sub-total for the number of items for each LPN.

A. Set the Summary Function for item to "Count" and check the Summarize By box for LPN.

B. Set the Summary Function for item to "Total" and check the Group By box for LPN.

C. Set the Summary Function for LPN to "Count" and check the Summarize By box for Item.

D. Set the Summary Function for LPN to "Total" and check the Group By box for item.

Correct Answer: A
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